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If so, a widow should also be n®y21 on Thursday

OVERVIEW

X719 72 cited a Xn>12 that a 77102 is married on '7 and N%¥21 on '71, because on 77 a
blessing (of 127 119) was given to the fish. A widow marries on 77 and is n%v21 on
", since a 11972 was given to man on . The X3 asked; a woman is n%¥21 on 77 (not
because of Xny7 *117p°R) but because of 0°37% 71213, if so, let an 7137X also (marry on
'7 and) be nva1 on 77 (because of the 0°37% 71572) like a 79102, Our Moo explains
why the question of '72 2¥2°n "1 7I1%K is contingent on the fact that '72 DRW1 77102
is not because of Xny7 "X, but rather because of 277> 7972.!
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The explanation of the 7"X is, everything would be understood if the Xn> 92
would have taught that a 7902 is '772 nva1 because of the concern that otherwise

his attitude would cool down and he will not go to 72 (unless it is the following morning) -
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As one side of the query indicated, but she is not 72 n5v21 because of the 7572

2379, since the 0279 11972 is not important to man, then -
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We would understand why 7125 is "12 npa1 because of the 77292 to man, which is
important -
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However now that the reason a 7%\n2 is 12 n%y21 is only because of 0°37% 71212,
an 732K should also be '712 nbw21 for the same 7372,

SUMMARY

The question that an 71m%X should be 712 n%ya1 like a 7702 is valid only if we
assume that the only reason a 72102 is 712 n%¥21 is because of 71973; otherwise, the
concept of 0°372 17572 is insufficient to be n¥21 then.

THINKING IT OVER

! Seemingly regardless why a 72102 is '712 n5v23, the question can be asked why should not an 739R also be 772 nbya1.
2 See footnote # 1. Why is the question dependent on the *377 *X (that by 72102 the [only] reason she is 772 nova1 is
because of 0°377 71912).
3 This indicates that the 0°37 71972 is 21w, it should also be 21w for an mInoX
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The term "277 °X' is applied whenever we establish a certain Xn»921 ,71wn, etc. in a
specific manner. Then we can ask, that according to the way you established the
mwn, etc. there is a certain difficulty that would not have been there if we
understood the miwn as we did initially. However here how can we use the term
1"X? No one established the Xn»72 of X797 72 in any manner. It states clearly that a
7702 is 2 N9yl because of %377 71572; what is the meaning of 77"&? The Xma
should have merely asked a question on the Xn*92, why is an 71X different from
a nna?t?

4 See mvT PP,
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